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QUESTION 1

What shapes normally represent a use case? (Choose three) 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

E. Option E 

F. Option F 

Correct Answer: ADE 

 

QUESTION 2

In UML, what is the behavior of an object caused by? 

A. a call 

B. a trigger 

C. an event 

D. an operation 

E. an event type 

Correct Answer: C 

 

QUESTION 3

What does a endency mean in a relationship between one element and another? 
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A. specifies how it uses another element 

B. specifies how it realizes another element 

C. specifies how one element implements another element 

D. requires another element for its full implementation or operation 

Correct Answer: D 

 

QUESTION 4

What does the execution occurrence in the exhibit convey? 

A. the sending of r 

B. that the operation v is called 

C. the return of the reply from having performed the operation v 

D. the execution of the behavior associated with the operation v on b 

Correct Answer: D 

 

QUESTION 5

What receives output values of a behavior on a decision node? 

A. actions 

B. guards 

C. input pins 

D. entry states 
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E. input parameter nodes 

Correct Answer: B 
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